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To Qenerate the Cycloid. Let the diameter 4 B[Fig. 1] of the circle AEG B move
along the tangent AC, always remaining parallel to its original position, until
it takes the position CD, and let AC be equal to the semicircle AGB. At the same
time, let the point 4 move on the semicircle A@B, in such a way that the speed
of A B along AC may be equal to the speed of 4 along the semicirels AGB. Then,
when A4 B has reached the position 0D, the point 4 will have reached the posi-
tion D. The point A is carried along by two motions—its own on the semicircle
AEQB, and that of the diameter along AC. The path of the point 4, due to these
two motions, is the half cycloid 4 ... D, the second half being symmetrical
with the first.
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